(996 Egel )

PRINT Your Name: Section:

There are 8 problems on 3 pages. Problems 1 and 2 and are worth 20 points
each. The other problems are worth 10 points each. In problem 3 you MUST use
the definition of the derivative; in the other problems you may use any legitimate
derivative rule. SHOW your work. m your answer.

NO CALCULATORS!

1. (The penalty for each mistake is five points.) Let
4—2% ifz<0,
flo) =4 o if0<z<1,and
2—z ifl<z.

(b) Fill in the blanks:

fO=0 lm =)= lmf=)=4 lmj)=0"
fy=t  lim fz)=L  lm f(=&)=1  lmf@z)="L
f)=C lm f@)=2 lmfl@)=0 lnfe)=0

(c) Whereis f(z) continuous? ( £ yery o heW e xeeff XE

(d) Whereis f(z) diﬁ'erentiab]e?@? chere PX((/?’ X m

2. Compute the following limits:

(a) lim 2’ 9 ﬁ @-3}“&3) = /Q,‘\* xf3 :@

z—3t z—3 )("’31 t'(-"-; X33

:3—3 - I —
l' —_ p— -
© 1m 52 -, w

© mI=2 0, X3 =(0

z+3 R |
(d) Rt e oy A 2 =
23k &3
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3. Use the DEFINITION of the DERIVATIVE to find the derivative of

&S

_4\/:? ‘{ ;)
(3) £ (xF4l =4yl Jrres —Jic3
£(x) ﬂm — zé 7
../Q; & LJ"T;-JI-'{) (Jres +Jn=) = (x+£-—3 (n"BJ)
Lo -3
(,(.)’E 'fJ\—’}J Q;‘BO e (Jg;? 1—J§:§)
) L ¥ . . = 4+ _/2a"

2,75 21(41 -3 +Jaz) 2 =0 it 2 tIx=3 - W

4. Graph y=3+sinz.

5. Find the equation of the line tangent to f(z) =9z'9 +8z at z = —1.

£(1)=9-9=I £'x]= 70X +3 Fl]= Hod% = %2

[(g- )= —SlCXfD

Ux3



(176 &x |

6. Let f(z)=zx?cosz. Find f'(z).

/ _
f (x| = —”/\'2'5513; +2K9

z3 + 9z
sinz

,’_..---—'—'_'_"-_-"_-_--___ - i
PUe) = sinx (3x313) — (°+95) cosc

SeqtX

7. Let f(z)=

. Find f'(z).

8. Let f(z)=9z%+ % +4y7+16. Find f'(z).
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(99 Exn )

PRINT Your Name: Section:
There are 10 problems on 5 pages. Each problems is worth 10 point. In problem 2

you MUST use the definition of the derivative; in the other problems you may use
any legitimate derivative rule. SHOW your work. | CIRCLE | your answer.
NO CALCULATORS!

1. (The penalty for each mistake is five points.) Let

2 el
flz)=< 2+z if0<z<1,and
3—z2 ifl<a

B

(b) Fill in the blanks:

=2  Jmf@)=2 lm fl@)=_2~ lmfe)= 2"
=23 lmfE)=a lmfe)=52 lmf=20
f)==t lm f@==0 lm f@)="L limf)="]

(c) Whereis f(z) continuous?

Eiés :{ 0 ﬁf/{(n e {l(’(- CM X = { .

(d) Whereis f(z) differentiable? qad X = 1
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